prdzis bewegen, auf engstem Raum +

ROTAX® Rxhq =@ /48
(KH%E)

202041 B ki
ROTAX®ZEERIZ= L3R

=R
SER, KHAsEEIFBE,
$H%E31%1,020 m Nm  (9.03 Ibf- in)

RIEENLL, EEFREILL0.006°/+11 arcsec
BB AT AR 23
KRB, ER12 mm (0.47")

T ERFIRFERI BB,
AENE AP RESHEE

A RB L EIE T TNIEIEXENAX®, 904475 ]

XENAX®E] BRIz HI B2 T #t T+ H3mhl . PREIFDIZR



ik

PUmEE X 1 & BB ALV R N R R g
EAt B E AR EIREARERL .
RIERT = RHIE

AHEREMERT, MHHES TRESFNFEGER
F#H2-3f%.

Alois Jenny
Jenny Science AG



ROTAX® Rxhq 50-12§ R ~F
1.1 RERST

1.2 Zib4H
121 BiEEZRT
1.2.2 EILIR

1.3 AliER %

131 HEREREAS®E
1.3.2 REBELIFHGEZM

=R ARG

2.1 ZERELINAX® Lxu FEORI A ZR

2.2 ZEHELINAX® Lxc F10/FA0I 23R
2.3 EHEELAX® Ex F2089 /42
I5%h R 4015

3.1 TILDHER

3.2 BRI mEES
33 IO RARRHE S

3.4 BHEGERRVERE
35 hEEEIESL TR
SR

4.1 RS
4.2 HFE/4% R 2k

BE

5.1 REfiL

5.2 S E

#ip, (ERESD

6.1 SER

6.2 ERE®

REFIFEE

7.1 XENAX®{RIBRIZHI B T 2 21
7.1 R

pa -

ZE

[$ 16 N "N N

© © © © w0 W O N O»

D T G G N i . T G G N UL G I UL
N O DDA OWOWOWWN-_ =2 OO



E NIl b

1 ROTAX® Rxhq 50-12f Rt

1.1 BRER

»50 h7

©43.5 h7

-+ wn
o
]
)
o
s
M~
~
- |
‘_Lﬂ
N =]
I
B 3

22




1.2 Zi05

@)

121 HBIEEZR~T

SCHNITT A-A

TERER30LG6H7X1LFLATE L IR




1.3 AliER%K

1.3.1 FAEREZREASE

il
Instakation heigh with
distance bushings

552 w008

Max. tightening torgue 2.9Nm
for fixing screws M4 150 4762 A2-T0 p=0.2

Mounting plate, recommended
mounting dimensions

B
di
=
il

FRiIR

FEEMETEIZ42, ROTAX® Rxhq 50-12

ROTAX® Rxhq 50-12

WIN] -
LNy RSN BN

& PR R %R




ja

i

1.3.2 ZEHELIIEZM

I

Max. tightening torque 2.9Nm

L/ﬁ\ /'7\ \;/ﬁ”\
(3 )4 ) (1)
N N
DETAILD
@ o~
1101
_{

7 H7

9]

Mounting plate, recommended
mounting dimensions

for fixing screws M

ISO 4762 A2-70 p=0.2

F5| 88 |#FR
1 4 |ROTAX® Rxhq 50-12
2 1 | ®LIR, D7x5 ROTAX®
3 1 | EPIRR R




LEFLINAX® Lxu F60HY KR
FEFIFL40 x 40 mm  (1.57"x 1.57")

2N ENISHD4S x 8
440Torx, M4 x 14

ANTAI EILHIFRERXhqg 50-12
AN FRIEHE, M4 x 55

RIEZFILINAX® Lxc F10/F40;8 4
FE5IFL33 x 28 mm  (1.30"x 1.10")

2NN ENLEED2.5 X 6
4/ Torx, M3 x 12

ANTFI E L HIFEERXhq 50-12
AN IR, M4 x 55

REFELAX® Ex F20iB84
FE5IFL20 x 25 mm  (0.79" x 0.98")

2N E 1L IR D6
449 Torx, M3 x 12

AN EILHIFEERxXhqg 50-12
ANA S FAIEE, M4 x55

2 {ERARS

2.1 EZELINAX® Lxu F60RFE 2R




KM, BER12mm (0.47") , KBS, BHZ
EREHFEESE . BPFYLR, WEALTFZRTE
KERMHFTETE.

ST mLEE, DPERILAEE120,0001 8,
EEHE L+ 11 arcsec.

HATRAENAENE, ROTAX® Rxhg#EFFHL
BRASBTAE, TRBITEIFHRE,

3R E M DR T RER FFMERotax® HIK
HIEEHEE S GadiMEE . Eitk, ATRUEH)
PREUFNITN TAEFBIHEST . G5 EXENAXRIARIZHY
BT, TRESEEICR TIEha SREHEIhLE .
EHBHEHNERZRR

3 TSWRRETS

3.1 FLHER

3.2 BREEX A ImADRT

3.3 BRI PRHES

F2

i
4



Jenny Sciencef) BT EIE R BN SR FE
HESNERME. MA, BSEERTENNES
B, SAZEELMHSEEES.

S
wkEEA. EEMETREERE0%.

3.4 QEBUNEERDBY

3.5 LS

10



4 MHEESH

41 BARSE

B [E 24V DC 48V DC
B o 45 1R No rpm 1,200 2,400
2 NEER NN rpm 500 1,500
ERSHI%E Mo Nm (Ibfin) 0.32 (2.83) 0.32 (2.83)
22X H5E My Nm (Ibfin) 0.30 (2.66) 0.29 (2.57)
IE{EHIEE@ Mp  Nm (Ibfin)  1.02 (9.03) 1.02 (9.03)
2 X HER In A 2.30 2.28
U 1B B 7% lp A 7.85 7.85
RS

=P Bl AR N (Ibf) 1750 (393.4)

R TE Nm (Ibf in) 5 (44.25)
EFEMRE Jrot  g:cm?  (Ibfin2) 400 (0.137)

BE m g (Ibf) 440 (0.970)

(1) 25C° (77°F) MRREFX LA GMETR) FHTELELE
(2) EEITIEMRE (F27110%)
(3) mALHBNEATHEE1IXMNRELY

11



NN S C | E N C E prdzis hewegen, auf engstem Raum

4.2 HFE/4E R

IS TAE

BB EUs = 24VDC

€ 1100
=
£ 1000
Y
@ 900
3
T 800
£ 700
600
500
400
300
200
100
0
[aw] (=] = = = (=] = = [am] = = = [am]
(] o [ o (] o [l o (] (] o [wm]
— ™~ [as] =T [Ep] [Ne] - e [a] (] — ~
- — -
i /rpm
e B EUs = 48VDC
£ 1100
pa
£ 1000
e
o 900
3
o 800
2 700
600
500
400
300
200
100
0
o o o [==] (=] o o [==] (=] o o [==] o
(=) o o o o o o o o o o o
— ~ m =T (T3] [Yw) I~ 7] (23] o — ™~
— — —
1R /rpm

12



(1)

HEER YRR
BEESERHE
WEEEHE

[B1F

BEE[um]

]

— Rundlauf radial
Runalauf axial

_/x\__’_/_.

@b h o ow oo ow

El

[} 247000 43'000 72000 26°000 120'000

ZEmEpksy 10 pm
=Bz 10 pm

M2 S AT B AT A =12 | 5 8] £ 20 mm{L & 4

5 BE
5.1 EfuL
120,000 88 /
+ 7 arcsec

+ 11 arcsec

KA BEENAFmEEE, FIEZRERMAE
=E2. BEit, THEEF.

GAHT BFL A TR IER A= i flLE D EE
kE&—infE, TRELNTR.

5.2 HLiEE

LT AROTAX® Rxhq3RZ S8BT HIARE N E .

13



ROTAX® RxhqBI M 5! fafE il iR Bk Sl & To S5 4 4P F0
TEB DR

ROTAX® Rxhq2EIRE . Fitk, FTERFIRFE,
ELE AR EHREESRE.

BE, RN AIZMRER R ZEAERIIR

K EREFHIER:

6 i, EAFH

6.1 jHE

6.2 fER&w

ERAEHITHE

ROTAX® Rxhq 50

p
9) «108
60=n

L1on BN ERED

C TESHRE

P TS HERHR G E

P FRAE®HIEH: REkimFEp=3
n

AR
HHERE:
C= 6350[N] (71428Ibf)
P= 50[N] (11.2ibf)
n= 500[rpm]

(@)3* 6

— \500 — %106

Lion = 01500 68*10°h

FHRZHIE, FRAERHIE (XENAXORRRIZESIR T,
RUABIL T RS EILZE =20%) -
FERIEREMAITEITSMREZE.

R8I A AF B BAR (Bl T X RIE TN

BRISRSH.

14




EN 61000-6-2:2005
RHERAN (EMC) , TARETHRFIM

EN 61326-3-1

IFA:2012
EN 61326-1, EN 61800-3, EN 50370-1

EN 61000-6-3:2001
RERAN (EMC) , %, Mkf Tl F R
RETHRAE

EN 61326-1, EN61800-3, EN50370-1
IFA:2012

FRANEHE
TiERE

TERE

%2

FhiPFR

7 REFMFE
7.1 XENAX®RIRIEHI B T L &M

EMCITF#HMIK, TEAZ%K

IhEER MR T AR

B RGN INGER M

B4 EBESD, HHilA, PURBSRTE, RIE, it
]

EMCiREMIK, £=EBXK

BRHnES, TIRE
BRI RGN TRE R £ 14

7.1 MMEE N

BIFEINFR. FRUFHITRIFBRIMRTTE. &
HMUEE-25°CE+55°C (-13°FF131°F)

5°C - 50°C  (41°F - 122°F) INEEBE, 40°C  (104°F)
mE R TIEMRE TP

10-90% T4t &=

FRMA-

IP 40

15



AEBNBEZHURIPHER. REEIBRF.

AK£Jenny Science AGEX.EE, mEEEN. £F
FENFIZ A £ BRI AR

STFARFAERIESRSILZHEAMEL, Jenny
Science AGA R fRIES A &IBEM =T

AERAFMFNEENELE, BLHITEH.

Jenny Science AG
Sandblatte 7a
CH-6026 Rain, It

B iE+41 (0) 41 455 44 55
£ E+41 (0) 41 455 44 50

www.jennyscience.ch
alois.jenny@jennyscience.ch

O AT B Jenny Science AG 2020

ROTAX_Rxhq_Data_E.docx / 28.01.2020 / mm

8

=y

16



